1 1E2EFR—TRARRERKE RPRARBFEES

TR25FE118168 (1)
RaHRerwaE
(D BFINFEAFEELT O HE®T 158109
BFE |B2H V574 = A\ | B | #EN | BF | B | B | B | B R |esE
®D|#E AFB| 4 |AILXA 3—-0|3-0|3-1|3-0|3-0|3-0]|3-0]|7]|0]14]| 1 |ftx
@| AR fith| 4 (RiEV ST | 0—3 3—1|3-2|3-0|38-0|3-0|3-0]6]|1]|13]2
@O 3| 4 |spceaz7| 0—3 | 1-3 0—3|3-0|3—-1|3-1|3-0]4|3]|11]4
@| ) ME| 3 |HEREEs | 1—-8 | 2—3 | 3—-0 3—0 | 3-0|3-0| 3-0]5]|2]12] 3|tk soreur
®)| 8+t %% | 3 [Over Limit | 0—83 | 0—3 | 0—3 | 0—3 1-3|0-3|3-1]1|e6]|8]|7
®| 8 Bkl 3 |7744%—X| 0—3| 0-3| 1—-3 | 0—3 | 3—1 3—1|3-1|3|4]|10]5
@|Bh RE| 4 |0KHY»5TF | 0-3|0-3|1-3|0-3|3-0| 1—3 3—0|2|5]9]86
®|B#H A—| 2 [o<EH*x |0-3|0-3|0-3|(0-3|1-3|1-3| 0-3 o[7]7]s

(2) BF/INESFELEL L DED

BFR 2HE 0774 | M| WT | ZH | AN | Fith | BE | Rt | El | BK |saEm

@| 4k BEth| 5 [FLFR FOX 3—1|3-1|38-0|2-83|3-0|3-0|3-0|6/|1]13]1|rx
@|WT RA| 5 [o<EBA%x | 1-8 3—-0|3-0|3-1|8-0|3-1|3-0]6]|1]|13]2|r=
®|=#t &3 | 5 [Over Limit | 1—3 | 0—3 1|83-1|3-0|3-0(|3-0]|5]|2][12] 3|rx&
@| K+t BiK| 5 |[77144—X] 0—-83 | 0—3 | 1-3 3—1[383-1|3-1|3-0]4|3]|11] 4
®|%th £&| 6 |®mEYs>J | 3—2 | 1-3 | 1-3 | 1-3 3—0|3-1|3-0|4|3|11]5
®| =% %/ 6 |05 7 | 0-3|0-3|0-3|1-3|0-3 1-3|1-3]0|7]7]s8
@t xth| 6 [kFE2=7] 0-83 | 1-3 | 0—-3 | 1-3| 1—8 | 3—1 3—1]2|5]|9]6s
Bl &#F| 5 [kky 5 Il 0-83 | 0-83| 0—-3 | 0—-3| 0-3|3—1| 1-3 116|817

() EFINFAFELIT D

EFE [BH V574 | =W ([ FAR| wE | B8 | a1 | FM | A |FAE| B KR |8a ”g [:{o
D|=# FZFE| 4 |Over Limit 3—1[(3-0|3-2[3-0(3-1[3-0|3-0]7|0]|14 1 |wk=
@|Fa BRE|3(®EVSZT | 1-3 3—-0|2-3|3-0|3-0|3-0|3-0|5]|2]|12|5/3] 2 |r=&
@®| % #&| 4 |Over Limit | 0—3 | 0—3 3—-0|3-0|3-0|3-0|3-0]|5]|2]12|3/3 3
@| 84+ KE| 4 |Over Limit | 2—3 | 3—2 | 0—38 3—1 | 3-2|3-0(|3-0]|5]|2]|12]3/5 4
®|Bat “R| 4 |#HEAK=EEx | 0-3|0-3|0-3 | 1-3 0—-3|3-1|3-0|2|5]9 6
®|+M g8%&| 4 |[®¥8957 | 1—-3| 0-3 | 0-3| 2—-3| 3—-0 3—2 | 3-0]|3|4]|10 5
@|#H\ A/W| 3 |ErEER | 0—-3 | 0-3|0-3|0-3|1-3| 2-3 3—o0|1|6]9 7
1k EV|EREEBYS5J |0-3|0-3|0-3|0-3|0-3|0-3|0-38 o|7]7 8
(4) ZFINESFEEL EDE

BFE BH V574 | HE | XE | BE | A | X8 | mE | A | H8 | 8HF | B K |[Sa]Ex
@D|HiE HEE| b |BELKBEH 3—0|(3-0|3-0[3-0|3-0[3-0|3-0|3-0]|8|0]16] 1 |r=x
Q@kmELX| 6 (BRHEESR | 0—3 3—1|3-0|3-0|1-3|3-0|3-0|3-0|6]|2]|14] 2 |r%
QEED LN 6 [REVST | 0—3 | 1-3 3— 3—1 | 3-0|3-1[3-0|3-0]|6|2]|14] 3 |r=®
@FAEED 6 [premsa=7] 0—-3 | 0—3 [ 1-3 1-3|3-0|3-0|3-0|3-0]4]|4]|12]6
G| ks &EE|l 6 |0y 57J | 0—3| 0-3| 1—3 | 3—1 0—3|3—-2|3—-1|3-1]|4]|4|12]5
®|mE %) 6 |®ky5JJIr|] 0—-3 | 3—-1|0-3|0-3|3-0 3—-0|3-0|3-0|5|3|13] 4
@|#ZH\ &#| 6 [SPC2=7|] 0-3| 0-3|1-3| 0-3| 2—3| 0-3 2—3|2-3]o0|8]|8]|9
®MmEs< > 6 |[OKEY5T |0o—-3|0-3|(0-3|0-3|1-3|0-3|3-2 3—0]|2|6]10] 7
@|a#x* BEx| 5 |8sEY»5J]0-3 | 0-3|0-3|0-3|1-3|0-3 2| 0-38 117]9]s8

OfEX% : 1B TH2643F21H(%)~23A(A)
215 WWBERSEDGLEREE



£1 1E2ER—TFTRABERREEZS

(B) BF/NZAFA LT O

(B DER)

254118168 (1)
RAFREHEE

AJOvs RiE 2R | A B 8K
@ |2 < IEHk 3—1 1-3| 1-3 4|2
Q| KiZ R |KFRXAKRL | 1-3 3—1 | 3—1 4|2 4
@+t fE|REYVST | 0—3 | 3—1 3—0 | 1-3 4|2 3
@|ErE Bk |HR=EEL | 0—-3 | 0—3 —-3|1-3 o| 6 7
G| KX BA|TERARL | 3—1 | 1-3 1-3 3|3 5
®|BN BX|®EYVST | 3—1 | 1-3 3—1 5| 1 1
@| WA FE | BEVS21=7] 2—3 | 1-3 0—3 | 0-3 1|5 6
BA Mtk
B70OvY N R | B % WAV 1=7
DI EX BT |FBYF D 3—1|3-0 3—2|2-3|3|2]|s
@|#HAR X¥|EAEKI) | 1—-3 3-0 1-3|3-1|2|3]|7]4
R)| =& gL |BkRkY 5 JIr] 0—3 | 0—3 0—3|0-3]|o|5]5]86
@| |0 @t |wEVS2=7] 3—1 | 3—1 | 3—0 3—0|3-0]|5|0]10] 1
G| ;s E|2<IE#AKx | 2—3 | 3—1 | 3—0 3—2]|3|2]8]3
®| & nE|ER=EEL | 3—2 | 1—-3 | 3—0 2—-3 21381715
(7)ZFINEAFEE LT OE
AJOvy 5 BEE | B
D= BE|OHYST 3—0 2—3 | 3-0 1
@|#8 EWk|sPcaz=7 0—3 | 3—0 2|2
B K HE|HKKRY T TIr 0—3 0—3 | 3-0 1] 3
@|BADSU|FE AL — — —| =
G| E& XK |HILKE 3-0 3—0 410
®|/MEEFIK|KFE R R 3 0—3 of 4
Q| B kP a =T — — —| = ENEEA
B =7
BIAvY w®l M | 2B e
@D|#He BE|spca=7 0—3 3—0 | 1-3 4/3
Q|FNEER|SHKS1=7T -0 | 3—0
Q| L | B EER — —
@|FiE @BE |+ ERKD 0-3 3—1 | 3—1
®| FM XK |KFRRD 0—3 0—3
®|BENLE|+ER KD 0—3 -0 4/4
@|/NB E£HE|kFELa=7 0-3 2—3 | 0—3




1 1EA2ER—TARERREEZSR (HHOH)

FHi25%11A16H (1)
WENKBEWHTE
(6) BF/INESELEL EDE
ATOvY BE | &R | =@ | BRI | &R | B8 | 88 | B [EaeEg
D| BB - |kFES2=7 3—-0|3-0|8-1|383-1|3-0|3-0]6|0]12] 1
Q@|&R BN |&REBYZT | 0-3 3—-0|3-1|0-3(3-0|3-0]|4]|2]|10] 3
®|=\ Bt |uvkgy>J | 0-3 | 0-3 1-3|0-3[3-1|3-0]|2|4]|8]5
@| R B | XKERND 1—-3 | 1-8| 3—1 1-3|3-0|3-0|3(3]9]4
G| Fi fE—|PEmEL RV 1—-3 | 3—0 | 3—0 | 3—1 3—0|3-0|5|1]|11] 2
®|BA EF|BHIKA 0—3|0-3|1-3|0-3|0-3 3—1|1|5]|7]86
@D| B85 MR#|KFRAKRLS | 0-3 | 0-3|0-3|0-3|0-3|1-3 0|6 7
BJOvY =R YN R 2
®|/ha Bi|spcoa=7 1—-3|1-83|3-0|3-0| — |2|2]|e6]s3 3
@|BH BEA|KFEL2=7| 3—1 2—3|38-0|3-0| — [|3]|1]7]2 1
Q| #HK BE|RIKA 3—1|3-2 3—-0|3-0| — |4|0]|8]|1
@| /ML s | BmEVS 2 =7 0—3 | 0—-3 | 0—3 3—0 | — 3|5]4
®| /M ¥A|B#HP2=7| 0-3| 0—3 | 0-3|0-3 — |o|4a|4]s
®| 2= | KFAAFL — — — — — - —=1-1-
0
ciavy IR I ARG A L 3
@8 HR|Z7445—X 3—2|3-0|3-0(38-0|3-0|5|0]10]1
Q)| 884 ik |BkRY 5 Dur| 2—3 3—0| 3-0]| 3-0 4(1]9]2
®| A BN |BikRdr | 0—3 | 0—3 1-3 | 3—0 2(3|7]4
@M fE(ERBYST | 0—-3 | 0—3 | 3—1 3-0 3[2]8]s
®|f BABM|+EXKRLY | 0-3 [ 0-3 | 0—3 | 0—3 114]6]5 ILich A
®|EAmE#xF=v2=7] 0-3 | 0-3 | 0-3 [ 0-3 | 0-3 o[s]s]se K=
DIawY e | KEE | /MR | BA | FEH 12 IE
@D Wi BE|kFES2=7 3—0|3-0|3-0(3-0 5(0]10] 1
@| K& HEit|spcraz=7| 0—3 3—0|1-8]| 3-0 2(3]7
QMNRIEKREKFERRL | 0—3 | 0—-3 0—3 | 1-3 o[s]5]e
@| AR BFE|BILKE 0—3 | 3—1 | 3—1 3-0 3|12]|8]s3
®|#Mm HE|®"EY»S5T | 0-3 | 0-3|3—-1|0-3 114]6]5
®|#@\ E|d@mMErKRr]| 1-3|3-0|3—-0| 3-0| 3—0 41192
EJOvY ME | o8 | k& | @8 | 2L | =8 | % e 1
DL EE|REI ST 3—-0|3-0|8-1|383-1|3-0]5|0]10] 1
@|5HE BhA|BEK=EESR | 0-3 3—0|3-1|38-2|3-2]|4|1]9]2
®kEF EAX+ERKRL | 0-3 | 0—-3 3—2|0-3|2-3|1|4|6]|6
@|E&H BUS|HILIKAE 1—-3|1-83| 2—38 3—1|3-0|2|3|7]s3
GlEL =#@BEVS2=7| 1-3|2-3|3-0| 1-3 3—0|2|38|7]4
®|Em E{|uks52 |o—-383|2-83|3—-2|0-3|0-3 114]6]5




F£1 1E2ER—TRABERREZS

(8) X F/INESFALIEDED

(SR DER)

Epk25%11A16A (1)

RatRadEE

AJOvY

LA

= | B L

LA B

BBy 357

1

g% BE

BRI S IJr

2 1R

BREER

BAEEX

+ERRD

Rir BRE

KERRD

@9|®0|O|S

Bk B

D IEBR

WD|IOIN|IN|W| O
N|O|W]|WIN]|O

N|IO|H~|O| =

BJOv)

IE ]

ZFHRIFSE

Bazderldr

Lt B

= =z
=tE EE

2 < IR

Fl 7%

SPCYaz=7

RiBI5T

ke

B KA

ik EX

BRY 5 IIr

@9®|V|O

#E R

+E 2D

N ST ES
w|o|lw|[nd]™

AI2JOIN|®

cJowy

IE £z

A RRER

kRIS IJr

A BER

BREER

LIS

VY57

AR I

48

=

HE KB

D XS

LIGIECISISIS)

Bl WR

KB R KR

= IN|[O|h|O|O

AlwlOa|=|IN|O

O[O |IN|[W]=




